[bookmark: _GoBack]COURSE THREE – Exercise 2.
You have seen these data before (COURSE ONE – Exercise 3) + (COURSE THREE – Exercise 1)
1. Calculate the net monetary benefits for each option when the threshold (λ) is $20,000 

2. Which is the best and worst programme
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Change to Costs| Change to Benefits | ICER __|NMB ($20,000)

$5670618 | -82 N/A -$7,310,618
-$3,509,340 | 178 N/A $7,069,340
$2,132,346 245 $8,703 $2,767,654
$5,733,560 459 $12,491 $3,446,440
$3,512,433 192 $18,294 $327,567

$5,431,001 250 $21,724 -$431,001

$3,250,000 80 $40,625 -$1,650,000
$7,000,172 75 $93,336 -$5,500,172
$7,541,222 72 $104,739 | -$6,101,222
$4,857,566 22 $220,798 | -$4,417,566
$2,697,337 1 $2,697,337| -$2,677,337
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